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What Were the Headlines After a 3 Foot 10 Inch Fortuneteller

Escaped From Jail?

Solve each equation and find your solution below. Cross out the box containing
that solution. When you finish, write the letters from the remaining boxes in the

spaces at the bottom of the page.

(1) 3(2x+5) =239

(2) 2(6k - 1)=—38

(3) 8(7-y)=—24

(4) -4(8+5n)=8

(5) 6(3x—5)—7x=25

(6) —2(5+6m) + 16 =—90

(7) 15(t+2)+9t=6

(8) 7w —3(4w +8) =11

10) 18x - (8x—7) =67

(1) 8(-2x—4)+12=-52
(12 2(9n— 1)+ 7(n + 6) = —60
(3 —3(3x+15)— (10 +x) =35

11(4 —6y) +5(13y + 1) =9




